Efficiency vs Dxy(PV)

Lo0.18F
£k
S0.16
>
50.14
5
8012
%0
0.0
0.06 -3 ---r - - HERAREL L { oo
0.04
0.02F---i----r--- TR L { .-
g
FORET.: SEPREOOTRTORY || .| [N R
. . | . .
0890 =15 =10 - 10 15 20
TP dxy(PV) (cm)
—=— DQM_CRF-testLowPt_1000evt
—e— DQM_CKFREFit-testLowPt_1000evt
—— DOM_CKFREFit-OR-testLowPt_1000evt
— | —— DQM_CKFREFit-ORK-testLowPt_1000evt
[ Efficiend —— DOM_CKFREFit-OR4-testLowPt 71000evt
< 0.5
E E

efficiency vs dxy(

00.¢

2 04 06 08
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

< 0.5

efficiency vs dz(PV

I
O N © w

o
w °©

10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

0 ..5 1
TP dz(PV) (cm)




	Contents
	Page 1


